System Specifications Conversions

— 3 V
Rgpunt = 1010 "9 o= Y
10%
lload max = 2-5A lload min = —2-5A
ppm = ————
: -3 1000000
Vshunt_max = Rshunt Tload max = 25x10 "V
. -3
Vshunt_min = Rshunt'lload_min =-25x10 "V
. -3
FSR := Vihunt_max ~ Vshunt min = 30% 10 "~V
Tambient = 25C
Tax = 125C
0
AT = Trax — Tambient = 100x10°C
Shunt Resistor Errors
Accuracy Shunt Specifications

3 o =0.1%
Eshunt_tol *= ®shunt _tol = 1 10" -ppm shunt_tol

ppm

Drift Sshunt_drift = 157

3
Ehunt_drift = AT-0shunt_drift = 1.5 10" -ppm



INA213 Errors

INA Accuracy Specifications

Vos INA = 3BV Vs INA spec =3V V5 INA sys =3V
v =0.1 w = 0.02%
os_INA_PSRR = V17, QINA GE = V-Vs70
=12 =0 = dB(120) = 1 x 10" Y
ch_INA_spec =12V ch_sys =0V Vos_INA_CMRR = dB(120) = 1x1 7
Accuracy
\Y%
os INA 0
E = ————— =100x 10 -ppm
INA Vos FSR pp
. (Vs INA_spec = Vs INA_sys) Vos INA_PSRR 0
FSR
. 0
EINA_GE = OLINA—GE =200x 10 ‘ppm
\Y% -V -V
) ( cm_INA_spec crn_sys) os_INA CMRR 0
Drift INA Drift Specifications
) . — 3@
INA_drift GE = C

0
EINA_drift GE = AT'9INA_drift GE = 300 10°-ppm

pv
Vv . Vv n =01 —
os_INA_drift 0 os INA_drift C
FINA_drift Vos = pqp AT =200 10" -ppm



REF2030 Errors

Accuracy REF Accuracy Specifications
0 o = 0.05%

EREF output = ®REF output = 300 10"-ppm REF_output

REF Drift Specifications

REF_drift_output = C

Drift

0
EREF_drift = (165C)-8REF drift output = 495 10 -ppm

System Error

Accuracy

2 2 3
Eaccuracy RSS = || EREF output +EINA_CMRR - | = 1.165x 10"-ppm
2 2
+ENA_ GE *EINA_PSRR

2 2
+ EfNA_Vos + Eshun‘[_tol

3
Eaccuracy total = EREF output * EINA_ CMRR * EINA_GE - = 2:044x 10" -ppm
+ENA_PSRR T EINA_Vos * Eshunt tol

Drift

) 2 3
Egrift RSS = |EREF drift * FINA drift Vos -~ = 1.62x10"-ppm
2

2
+EINA_drift GE * Eshunt_drift

3
Edrift total = FREF_drift * EINA_drift Vos * FINA drift GE* Eshunt_drift = 2-495x 10" -ppm

Total

2 2 3
Etotal RSS = J Eaccuracy RSS * Edrift Rss = 1996 107 -ppm

3
Etotal *= Eaccuracy total T Edrift_total = 4.539x 10" -ppm



System Errors as Percentages

-3 _3
Eaccuracy RSS = 116:517 10 7% E 204.4x 10 "%

accuracy_total —

-3 -3
Edrlft_RSS =162.019x 10 ~-% Edrift_total =2495x%x10 ~-%

-3 _3
Etotal_RSS =199.566x 10 ~-% Etotal =4539%x10 ~-%



